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 ��� �� B6     �� ���	� ��� ���� ��� ���	� �� �� ��� ����  ������ �   !���� ����

!�� ��
��	" #	��� �  �$� �� %��" � �&��� '(�&�����.   �	*�+, �-$� �-&�� .� ����(� ��	�������� B6  /��$, ��

 0������1�� !2 ��1	3 	4� �� �+�5�6 .��� � ��7 �� �� ��� ��8 /�!�(�� ���6 �� !2 9��:� �	�
� ��; ��� ��

��� '-� ���(� �&��� ��<� ��	� ���	��$� � ��2 �� �=$��� />�(�� /�5�� �
�� ?,�� 	@��.  ��1�� �� �A�� ��

 B	�
� ��
�:&�C�  � ���	� �� 	D�;������� E=� B6 �.��	" �� /6 5�$���� ��
	�(� � ���
�� E=� �.  ���

������� ��� 	� F�8� ���	� 0� B6  /��$, �� �������1�� !
� �� �G��� H1� � ���	� 0� �.  �3>�� ��� 	� ��<,

������� ��� ��
B  ���  �� �:��$� ��	� �:&�C�������� I���=� ���� �� B6   � �� � !
� �� J	2 ��
 ��1�� ���

 /�(�� ��<� 	� /6 	�@�� � ���	� '(�&������ � ������ ������ �� �!�!A �$�� �� !
� �� �G��� �� ��� �D�� 	�
�

!
� �� �G��� �
. 
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*�  

������� +,� B6  

������� ���	1 B6  .�)/��$, �� O" ���  �������B6 P��� �!��� (��2 �� �!���� ���.�  ��� ��1932  	=�$�

!2. �� �R�6 .� S�	� �.���!A ��� 	� �� "Oryzanin"  ������� B1  � �	� ��� ��� �!����  �������B6  �� ��

 �1�� �T��A ��U � 0� /��$,.  �1�� ������� �� �� ��T� ��36 �� ��� B�	� E���� �� �&��	1 ���	1 0������� �  �

 �*�V�&��5�1 ��+
�.�	*� W�� �� /6  

������� ������
 ��X,� /�	� YZ=� ���� �� !$+=��� ��!$[ B/��. ��� �� B   !���� ��� �� ��\=�.  ���

 J<C�� �� ��	� /�!$+=���"�	3<" .� �	�]=�" �����1^�� �"  !���� �� ���$���	3� ���	3<" ����" ���+�� 0� B



 

 

!$� �_�(A �� B���	 � ^�� ��.  B���`a '�V� �� b�UZ� 	+Z� 	+Z� 0� /�	� �1�D� �� �� !��	� E=� �-�6

��2 /���� !���� �� �$�����6. c"  �3���3�!��� B�������_� !&��� !$+=��� B  �������B6  c��, /��$, �� ��

�	�]=�"  �	� E���� 	+Z� 	+Z� �� ��:1 �	3<" ^�� �!$$�. ��� �� !:� ��� !$[1938  .� ���3�!A ��	3 S$"

��+A .� B/��� � �3���3 B �������B6  !��	� �!A 	+Z� .� �� ������. ���
�� ���:� .� O"  �������B6  ��� ��

1939 �� /6 ����
�� ����Z+
 ��, �� �� ��(��!�	�" ������� �A	�3 B!���� ��!�	�".  /��$��� B��� /�+
 ��

5�$� B.	*&�1 ���� � O�	
 ���  �������B6  !���� 9�_�� ��.  

�� !2 ���� /�=� 	�=�� I�:&�C� ��  �������B6  .� �� !2�� ��2�� ��A� �G��+�2 ��
 9	1 	��� �� !���� ��

 ��:8�� �� 	�\�� ��	3 0� �� ��(��!�	�"4 '  ��� I��L��. �(��!�	�"� (PN) ��(��!�	�" Bc�(���!�
 0� 

(PL) ����(���	��" � !�
!&6 (PM)  c*2) �$��6 ��	3 0�1!$� �� c+; �� (.  �� �� ���3 �� 	
 �� �&�; ��

 ����!��	" B�	� !������L(1 /���5'-I�L(1 (PLP)  ����(� ��	� � ��� ���$2 �(�. ��	� ��:1 9	1 .� �� ���

L��� '-� �+�5�6 ��
 �$��� .���2 �� ���.  

-�$)./  �������B6  

�� ��� I���=��� � E=�  �������B6 ] ��� b�U�
� �
 ������� �� �� !2� �	*�+, 0�3 B11].  B��; ��� ��

�� B�!�. '(���3�� ��+
� � ����; �	*�+, f�$� E�L
 ��T(� g�D�� ��� �� !2 �2�� 	�=�� I�:&�C�  �������

B6 ��� ��	� h�� '� �� B����.  �������B6c*2 �� B PLP ��	� 	��1�� /��$, �� �� !$� �� �.�� �� ���� ��� B

!$� �� c+, ���	D ��
 '�5�6 .� ����. ��!:�. �� ��(��� '�5�6 ��� PLP  .� ���140  �� YZ=� �+�5�6 �$���

.�������!�(��) S$" �� F�:�� � !$� �� 5�&���� EC 1.�	L(��	� B EC 25&���!�
 B EC 3��& B .�GEC 4.�����5�� B 

EC 5(  .�6 ���+� P��� �!2 E�	:� '�5�6 #<�    �&�*&�� ���$2 �(�. � �+�2��� ���+&� ��� ���� �� '�5�6 

(http://www.chem.qmul.ac.uk/iubmb/enzyme).  �� ����+�2 ��
 �$��� .� �� ��	�(3 E�7 	�� ���

�� ��(��� '�5�6 �� !$� �� ��(A	� PLP I���A�� �� ��+
� ��$R+
 � !
� �� S��	� �!�.  �������B6  ��



 

 

!
� �� /�=�. �� ��(��� ��
 '�5�6 /6 �� �� �*�&����� ��
 �$��� .� �� ��<
 	�. �Z� PLP  c��8 ��7 ��

��2 �� �G��� B!$�(
 	�3�� �-A��.  

�� ��(��� ��
 '�5�6 .� ����(� PLP  B�$��6 ��
 !��� '(�&����� �� �+-� ��
 9�3���5�&���� ���*+
 !$��� 

/����5�+(��	� B/���<�(���	� �(��.�B /����5�+���� B α !$$� �� 5�&���� ��� i`; ��
 �$��� B.  /��$, ��

c�!T� c�!T� �
 .�$��6 O��	� B��j� α-!������  �� !$$� �� !�&�� �� !��� �$��6 !��� � �$��6 ��
!��� ��

��
 !����$��6 D �$��6 !��� .� �� L  !$$� �� !�&��.  

�� ��(��� '�5�6 ��&�:1 .� �	]�� ���� PLP��� k	[ !��� '(�&����� B.  '�5�6δ-6-.�	���� (EC 1.14.19.3) 

!��� � 0�&�$�& !��� ��T+� �� �� ����; ��
!��� f�T2� 	�a k	[ ��
 !��� 5�$� 5�&���� γ- �� �� 0�$&�$�&

  ���	� !
� �� /�=�.  

 B�-=�� ��� 	� ��<,PLP  !$��� B�.�� �	�
l ��-���!�
��	� ��	Z� ��	� '-� ���*+
 0� �!$
� /�=� ��$R+


��� /V�*��3. �� ��(��� #<���L(1 /V�*��3 PLP (EC 1.4.1.1) .� 5���3 ��=��� �� �� /V�*��3 ��5_� B

 �	�3 �� �!-, �� /V�*��3.  

�� ��(��� '�5�6 �� B��� 	� ��<, PLP !���� ��� c�1�	�� 5�$���� � �����3�+
 c�*=� ��.  ��;	� B�$��� ��� ��

!��� ��&�� 5�$���� B�,	� �!$$� ��! � δ-��� 0�$�&�&�&�$��6. !��� B/�3!�	" � /���!���(" �� δ- 0�&�$�&�&�$��6

 .��$� 	@� ��δ-!��� 0�$�&�&�&�$��6 )EC 2.3.1.37( ���3 	@� �� �-*T�A � /�
��3 �� �I���-1- !�!�&��+�2،1-

.�����$��6 (EC 5.4.3.8) [18]..  

 .�� ��" 5�$� P��� /����
���1 ����� 5�$���� B/�
��3 �� B��� 	� ��<,1-/�"�	"�*�����$��6 -1- 0���(���	�

.� !��� S- ��
.��$�� ����� �� ������� c�.���61 -/�"�	"�*���$��6-1 -�� ��(��� I<�(���	� PLP (EC 

4.4.1.14)  ��2 �� �	�$�.  



 

 

�� ��(��� ��
 '�5�6 .� 	���1�� /��$, �� /6 �	*�+, ��$j��� �� PLP B �������B6  /��$, �� '���(� ��7 �� 5��

 ? � ���� 	�. �Z� �� �� !$� �� c+, �5_� />�(�� !$��� �=$��� />�(�� ��
 ���3 	��	� �� H1� � c��, 0�

 �	�3 �� ��	8.  

 B�
 m��8 �� �&�; ��!�&�� �� ���8 �
 �	������ 	j�� � �
 #�8 B/�
��3  �������B6  B(!�$�T� �� �!:� �Z�) !$�(


�A��
 �D	, �� � !���!� �� ������� ��� B/�(�� ��+A .� BI�����; 	j��  �������B6 !$�(
 �*��.  

0( 	
� ��
��� �� ��1� Anabolism  �������B6  

  02�3 �1��0- 4*�1� � ��1�(� 
�
5 6���3���  �������B6  

5�$���� ��	� ��A�� 	�(� �� denovo  �������B6 ��� �!2 ��
�$2.  .���(*�53� B���5'-I�L(1 (DXP) 

�� �� B	�(� �� ��(��� �	������ !$��� B���� ��A� �n���	�(� 9�� � DXP  �	���� .� �
	� ��	� �� ��� c��(�

 B�
 ���6 ��� �!2 ���� J	2 ������� �.  

	�(� �� ��(��� DXP �L$� 9	3 �	���� �� I!2 �� E.coli   ��� ��1	3 ��	8 �:&�C� ����.  ��� �!2 ���� /�=�

��  �������B6 �� E.coli c+, �� PdxJ (EC 2.6.99.2) � PdxA (EC 1.1.1.262) ( c*21] (23 -25 [

��2 �� 5�$�. .��$� ��p��	" �� ���  �������B6  .�4-�(���!�
 �L(1 L-) ����G	�4HPT) � DXP  ���L���

c�*=� ��	� �� ���" ���� /��$, �� ������ � !�G��	"�5�� 5�$���� �� /6 .� ��" �� !$$� �� PNP [26-28] 

!$�(
. PdxA  /����!�(��4HPT  �� ��3-amino-1-I�L(1 �(���!�
(AHAP)  � !$� �� 5�&����PdxJ 

PNP ��
 ���	1 �� AHAP � DXP [29]  c�*=� ��!
� ��. PNP �� Oq� PLP��:1 ��:1 c*2 B 

biocatalytically .�  �������B6P��� B PdxH  c*2) ��2 �� !�(�� I�_� 	�(� F�	7 .�1  (.  ��"

��
.��  �������B6 4HPT � DXP ��	+
 �� /����!�(�� .� i	7 0� .� /����$+�(��	� .� D-  .�	����-4-

.� 5�$� F�	7 .� B	]�� ��� .� � I�L(1 I���	�"  �D- 3 I�L(1 �� DXP .��$� (EB 2.2 .1.7) [31]..  

�� ��� /�=� �!$$� ��	2 ��
 '�5�6 ����� ���
�� c�� � � ��5_� PdxA � PdxJ  �� c+, ���3�!A I��� ��

!$$�. 	+�� PdxA   �� !$� �� ��_�� �� P��� 0�4HPT �.�� �� �� /6.  Bc���� ��PdxJ  /��$, �� �� �
	�����



 

 

��
	+�� ��
	��	�� PdxJ  !
� �� c�*=�.  P��� /��� �� ��� ��1	3 ��	8 �T�A 	+�� �	���� P��� 	
 �� 

DXP � AHAP �� PNP ��2 �� c�!T�.  

�� �!2 ��
�$2 9��  �������B6 	�(� 5�$���� 	�(� DXP  B��� �!2 �!�" ���6 B�
 �	���� �� �� B��� c��(�

/���� ��(
 � ���.  B9���q�(&�1 9����+�<" B�
 m��8 B/�
��3 �� 	�(� ��� f�8�Thermotoga maritima  �

/��$, �� ��$R+
 Bacillus  subtilis  B��p��	" �� c��2 � ���� /�=�PDX1  �PDX2 ) 5�$���� ��	�

�� ��	� r�&���� M��(��!�	�" ��p��	" B. subtilis  .�Yaad � YaaE BPDXS Geobacillus 

stearothermophilus � PDXT  BSaccharomyces cerevisiae SNZ � SNO( [33-37].  �� ���

'���(� .��$� ��p��	" PLP  .�T�� .�5'- .�&�T�� �� 5�$� I�L(15'- !�
!&6	(��3 '
 �� ���	� �� BI�L(1

3' �������3 � I�L(1 /�����(���!�-�� �� I�L(1) c*21(. ��+,� �_$�� �� PDX2 0� /��$, �� 3.��5�������� B 

I�$��� �� c*���	�
 ��	� /V�	��� ����� ��4$� �� I������3 �� �������3 PLPOq� � B PDX1  ��(� ���	�

 ���-� ���; /!2 ��� 9.n  

 c*21!�!A ��
 J	7 ��� J	7 : 

  

 ��
 '(���3�� �� �.�� ���� I�:&�C�B. subtilis BG. stearothermophilus  �P. falciparum  �� ��� /�=�

 '�5�6PDX  ���=� ���
�� 0� �� �� .��$� ���	� 0�  ] !
� �� c�*=�37 B39 B40[.  �,�+_� ��(
PLP 



 

 

 .� c*=�� .��$�12  '�5�6PDX1  �� �� B!$7�T��� �� �	-[ �� �	-[ I��� �� �� �	��5]
 ��n �� �� �� ���

 /6 �� �� !��2 �� '�(�� ����12  	�����PDX2 � �� !���"] !$
37 B39 B40[.  

7��� 	(� 

'���(� 5�$� 	� ��<, PNP �� PLP  s��:� c��8 �!$
� I�_� J<C�� �� ��
 ��� F�	7 .� �
 ������� ��� B!�!A

!$�(
. ] ��2 �� 9�_�� .�!�(�� �� .�$�� c+, P��� �
 c�!T� ���22 B41 B42]. �� �,��. 	�(� �n���  	�-�

 �� ��� �!2 ���� /�=� �� B���I��L�� .�$�� �� (EC 2.7.1.35) !$���� �� PN BPL � PM  �� ��5'- I�L(1

 c*2) �7��	�1!$$� ��&�	L(1 (. �� .�$�� �� B��� I��L�� �-�6 	�(� ��
 �3>�� �� PdxY ��� 	� c+, PL �� B

�� �&�; PdxK !�$� ���L��� �,�+_�	�. /��$, �� �� �!2 ����	L(1 	�a ������� �� 9�+� !���� ��.  	j��

] �	�� 95���3�� ��!$[ .� .�$�� �&��(�	� ���
�� � 0� .�$�� 0� c��2 �
 I�������43 -46!
� �� /�=� �� [.  	


��
 /�� .� ���L��� �� �� ��� ��:1 ���� 0� ���; 	����� �� .� 0� ATP  B��� ���	D ��&�:1 ��	� �� B5�1 �

 ��2 �� ���L���.  

�!�(�� 0� P�1 B�
.�$�� i<
	� B.PdxH (EC 1.4.3.5 �� (�n��� �!2 ����	L(1 ��
 9	1 /����!�(�� ��	T

PNP  �PMP  ��PLP  c*2)1] (28 B48��� �!2 !�(�� [.  

.�!�(�� I�L(1 ��(��!�	�" 0� 	+Z� �� PDX3 (EC 1.4.3.5)  ���51� /V ��� �� �-A � �!2 �����$2

��� ���� ���51� �� ����!�(�� #	��� �� ����(;.  �&�A�� �	�
� .�!�(�� 0� �� c+*� B��� �A�� 5�("�!����� B

AtPPOX   !$� �� ��(A	� �� 	�(� �!2 �41� � ���(� �:�T7 �� ��� I�_� �� 	+Z� �-A ��� B. ���
��

 �������1 �� B!$� �� c+, 	+�� 0� /��$, �� ��$R+
 ��p��	" ��� �� ��� ���� /�=� .�!�(�� ��(��!�	�" �����

 B!���p�������� ���<1FMN��� cU�� 	����� 	
 ��:1 ���� �� B.  

81�9������ :�:�- &���#  �������B6  

5�$���� 	� ��<,  �������B6 ������� '(�&������ B��� ���	� ��� �&��� ��.�����
 ��	� '-� �T$A 0� ��$R+
. 

P��� �+-� 9�3 /���<���L(1� PLP / PMP / PNP  ��	� �� �3�5� �	�$� ��;	� ��� �	�. B��2 �� ���� /�=�



 

 

��:1 ��3.�� ��:1 .� �� �,�+_�  �������B6 !
� �� /�=�. ���+�<" /V��!�
 !�(��	" �4�a ��
 ^��53 

PLP / PMP / PNP  .���L(1 ��&�*&6 P���(EC 3.1.3.1) .���L(1 !��� � (EC 3.1.3.2) [54-58]  ��A�

����.  B!�	�3 �� ��	8 b�
 ��7 �� �� E��Z� ��
 '(���3�� ��	� �1�D� ��
 .���L(1 B��; ��� �� �������B6 

] �	�(��� 0� /��$, �� �� �!2 �	L(159 B60!$
� �� ��	8 i!
 [. ��; �� �-$�� .�  �UZ=� ��	�-� .� �*� 	D�;

.���L(1 ��(����	" /�(�� ��
 (PLPP) (EC 3.1.3) ( c*22��� (.  	+�� '�5�664 �� .��� �� 9���� ���� Mg2 

+ ���. ] �X�� � !T� B5\� �� ��!+, ��� ��2 �� /��� E��Z� ��
 �1�� �� ���60��2 �� /��� [. PLPP  �����

�� c�� ��	�=�� PLP ��T�� �� B��� /6 PNP Oq� � PMP.  5�� '�5�6 ��� B���� ���-� 	@� 0� ��!:� I�L(1

P��� PL [60 B61] ��2 �� E�:D. ���(�� �	�$� ��	� ���" �+�2��� ��
 ���� �[ 	3� PLPP  c��� ��C�

��� .�� .�$
 ��� �!2 O��t�.  

 c*22  ����	���� 0�&������ 	�(� �������B6. /�=� 5���	" �� ���� ��
 ���+2 ) :�
 '�5�6 �!$
�I ��(��!�	�" (

4-) M.�!�(��II) M.���L(1 ��(��!�	�" (III ��(��!�	�" (4- ) M.��V��!�
 ��IV) 4 -) M.����*&�(��!�	�"V (

.�!�(�� ��(��!�	�". ) :���	� �!$
� /�=� ��	, ��!,�1 (PN) M2 (PLP) M3 (PL) M4 (4 - M/���n�(��!�	�"

)5 !��� (4-) M0�(��!�	�"6 (] .� �!2 J<��) 0�$�($� !�G!&��+�62([.  

  



 

 

 �L$� 9	3 �	���� ��Pseudomonas sp.    ��	Z� ��	� F�8� 	�(� 0� �������B6  �!2 ��	L(1 I���=� �

 c*2 �� 	��U� 0� �!
�=� ��	�) /62] ��� �!2 ���� g�D�� (62 B63[.  �_$�� ��PL  ��
 ��&�:1 F�	7 .�

��(��!�	�" �!:� -4 -�V��!�
 ��) .�EC 1.1.1.107 � (4-pyridoxolactonase (EC 3.1 �� !$�6	1 .� (

 .� �� ��;	�4-pyridoxolactone  ��4 -0�.�	�" !��� (4-PA��2 �� c�!T� (. 1.27 �� '���(� ��7 �� �� � (

4-PA  P���pyridoxal oxidase (EC 1.2.3.8 Oq� M(4-PA  !�G!&��+� �� �1�D� ��;	� S$" I��� ��

] ��� �!2 �5�&������ 0�$($�62 B64[.  �� ��� �A�� c��84-PA  �� ?,�� �� ���� ��A� /�(�� � ^�� �� 5��

 ��
	�(� �� ��20�&������ ] !2�� ��2�� ��A� I���A�� ��� �� ���=�65 B66[.  B��� 	� ��<,!�
!&� �+�  /5$�

�� �&�+:� ���	� 0� !��� ��	Z� B<j� B	3� B��2 ��2�T�� /�(�� �� !���� �� �� �γ-0�	���� �$���  ��T+� ��

) 0�$��� .��V��!�!��!�G!&��+�EC 1.2.1.24] !2�� '� (67[.  ���][ �� ��� ��
�$2�� ����� B��; ��� ��

��2 �� ��	Z� .���L(1 ��(��!�	�" ��&�:1 .� O" 	
��� �� �������.  

;�<=�  �������B6 �  7������� � �  7������# �-  

��	��� ������ B'-1 c��8 ��� '-� ���(� /�!�� 0� B6 ��� �
 I������� � �
 I������	" ��. ��-�������	" .� �
	� 

0�1�	��(��  �������B6 �I�������  !$[ ��
 ����*��� �� �&�; �� B!$�(
 ��(��� ������� I����� �� �&��� 0�

 !$���� �+� �� �&��� �������B6 ��� �-�6 E��Z� ��
 /�3�� �� ������� ������ �� .��� !$$� 5�$� ��.  

 ��$[ ��A� !
� �� /�=� �� 9�]=�" I�:&�C��!$
� ������ ��
  �������B6 9����+�L��� <��+&�� .� � S. 

cerevisiae   B  ��� �!�6.  k`A B������&�� ��+�53�	" �� �&�& ��
 ���� .� 	�n�� ����.�� I�:&�C� ��

� ��(��!��	" N- (4'-pyridoxyl) !
� �� /�=� �� �
 ���6. �� ��� /�=� 0����� 0� � h��V ��� B�_$�� ��

��:1 k`A '�(�� 0� ����� �!2 ����.6 ^�� ��
 ���� Na +  �!2 �G��� ��	�. ���� ��� !���� �� �� !$�(


!2�� I��L��.  O" �-�6 �	�. B!���� .�$�� ��(����	" !��� B/6 ���6 I���=� � ��(��!�	�" �� 	
 B��� �A�� �&�A

 !�!2 !���L(1 ��.���� �� ���� .�. k`A � 0[�� ���� �� �����
 i	U� BuT$� �� .� /�(�� �� ���� k`A

!2 !�&�� �	�����  �������B6 !2�� �� r�5� ���� ��.��
 ���� .� ���L��� �� I�=���.6 Caco-2  ��
 ����



 

 

�� �� 	
 ��	� �� c��; �!$$� cU�� ��
 '�(�� ��� B/���!���(" ��
 ����$�� � /�(�� �� ���� pH � ��� B

��� /�=� c�� � c+; /�5�� 	� ��(��!�	�" J�C�.  c*=�� ������ 	�(� !�� �� 	4� ��.�$�� ��p��	" .� A 

��p��	" (PKA)  ��
 ����Caco-2  	�(� P��� �
 ������&�� �� c�� � c+; �*�&�; �� B!$� �� '�4$� ��

Ca-2 + / CaM  ��2 �� �	�$�. � c+; '�(�� 0� ��A� �!$
� /�=� ��$R+
 ���(�� ���!(�� �1�� �� ���

��� .� v��
 � c
�� �� �� ��(��!�	�" �� ��� c:L$� c�� �4�a /����	3 0� 	��	� �� �� ��� B!$� �� c��$� �. 	


I����� � ��:1 k`A ��  �������B6  ��� �!2 ���� /�=� 	+Z� ��.  B��(*2 	+Z�O+�������5�2 �A�	
 B

� �A	� PN ��
�� �4�a �� ��(��� �� �� PN /��51� �� /6 /�5�� � ��� /�=� B��� Na +  �1�� ���51� . 

 ��� �!2 ��-$=�"�A�	
 �.���� ��� 	� !���� �� �G�=a c�(���" �� PN ���`3 	@� c��; ��. �� ��� B��� 	� ��<, 

S. pombe .������ PL /V P��� �� �� prl1 + u1� �� B��� �!2 ���`3!� PN .� /6 �
�� .� O" PL  ��

 J�C� .� ���!-]� .� �=Z� /��$, �������B6  !$� �� PT�	� ���� ��. � ��� ��7 �� �� ��� /�=� �
 ��1�� ��

������ ��	� �L��Z� ��
 95���*�  �������B6 ���� ��A�.  ��� �� c�� � c+; ��
 ��p��	" F�8� ���
 ��; ��� ��

��� .�� B!$� �� c�-(� �� �
 �T$A. Tpn1p  ��� ��2003 ��	� S. cerevisiae  .� ���+� ��&�� � !2 E����

�!$
� ������ ������ 0���� ���	�� ��� ���.������
 �� F�:�� ��p��	" 5��	" ����" - 0� /��$, �� � ��� ��.����

k`A ��	� �+�<" ��=a ��p��	" ��	� /���	" �$�q+�  �������B6 !$� �� c+,. ��	� ��n�� c�� ����� /6 PN 

��!�� �� Km 0.55 ��$R+
 ��� ��� 	���	*�� PM � PL !$� �� c+; 	� ����" I�7�T��� �� ��.  .� 	]�� �*�

�!$
� ������  BPT�	� 	�a ��
Bsu1p �� S. pombe���; �� 	+Z� f�� 0� B  r�&���
 Tpn1p  B�(��

 !2 �����$2.�� �&�; �� Bsu1p �� �T(� 	�+� �]�(��� ����� PN �� �T(� Tpn1p  /��$, �� ��$R+
 B���

���$� c�1�	" �� /���	" /����q+� 0� pH !$� �� c+, ���=� 	�(� �. �� ���]$
 B���	� ��+
 �� PN  �4�a

!��� �� ���51� �!$
� ������ �� 	
 /��� B!��� �� �
��.  .� !�!A #<� 0� B�	�
��!$
� ������  �� �������

!2 �����$2 �
 ��	��	".  ��V�� 0� � 	�(� .� ���
 ��5A� ����� �� !�� �!2 c�*=� E��Z� ��
 ��V�� .� �-�6

� !$�(
 �V	�� /!2 �LA �V	�� ������ ��
 �!�	�3 /��$, �� ���	� �� (ECF) !�� �!2 ���`]���.  ���_��A ��V��



 

 

 �!2 k�Z��� ��
 ��&����� c�� � c+; c�-(� ��	� E��Z� 	�(� .� ���
 ��5A� .� ��U�� �� !
� �� �.�A� �V	��

w�=a ��. �!$
� ������ 0� ��$R+
 /�3!$(��� B��� �A�� �&�A ECF ��!���" �� �� �����$2 ��n�� ���(

!��	�.��
 ��1�� Tpn1p BBsu1p � ECF �!$
� ������  c��*� c�� � c+; E��Z� ��
	�(� �� !
� �� /�=�

 ��:1 �!�. I���A�� 	��� �� c�� � c+; ��
 ��p��	" 9�!� �� !�	�]� ��� �� ��� !
��
 5�]�� /�_�
 � !�� ��1��

!$�(
. c�� � c+; W�� ��	� B��� 	� ��<, �&��� c
��  �������B6  ��
 '�5�6 .� ����(� �	�. ���� ��+
�

�� ��(��� PLP ���� ��A� ��<"�	�� � �
 ��!$����� ��.  �� ��� ���][ �� ��� .�� 	D�; ��; �� B��; ��� ��

��� �!=� YZ=� .�$
 c�� � c+; �� x��	� ��
 ��p��	" �� ���_�6 .� !�6 �� ��� �� ����.  

>*�  �������B6 ?��3( @3�# �-  

.� �� ��	�(3 ��� .� �!
��2 	�
� ���  �������B6 ��� ��	� '
�	1 �� �
 ���� ��.  B!2 /��� n�� �� �� ��C��+


���� �+�5�6 �.5�&���� ��� ���	� ���.  B��; ��� �� �������B6  �
 ���� .� �41� � �� ����; ��� ��� �*+�

 B!2�� ��2�� ����!�(�� #	��� .� ��� ��; �� !
� �� /�=� �� ���!�(�� ���6 ��&�:1 !
� �� /�=� ������� �	�.

������� .� C � E [80-83] ���. 5�$� .� �	�]=�" � I�_� !��� �� �� ���
 /V /������� ��  �������B6 

�$��� � 0+� />�(�� ����(; �� �
 y���$1 .� ����. ��!:� B!$�(
 c�
� (ROS) !A) ��2 �� �!
�=� ��

1(. ����(; ROS �$��. ��  �������B6 /V���"���1 �� �!��� �� Cercospora nicotianae !2 YZ=�.  ��

 B!$�2�� ���
 ����(; ��
 ����q���	� 9�+� �� �� !���� �!2 �����$2 ��1�� �-A ��
 ���� �_$��

$� �� !�&�� �:2� ��� 	� �� !�(��	"�� � �5_� />�(�� �� �_$� ��� �� ����(; !.  ��1�� �-A ��-�V h$�����

�� C. nicotianae ��p��	" 0� �� ��1�� �-A ��
 m��8 �� ��� /�=� PDX1.  ����. ��+
� .� �
 ��1�� ���

 /�$��� �	�. B��� ���� �����
	� �������B6 ] �(�����(�� ������ �$��. ��84��� �!=� 	�l [.  �!:� I�:&�C�

��� /�=� ��$R+
 �-��3�� 	��� ��  �� �������B6  ��(��� �. #	��� c���, 	��� � ����!�(�� #	��� c+ � ��	�

���.  /��� ��� .� B��j� /��$, ��5�("�!����� thaliana PDX1.3  B��]$� .� �� /���� �� �T(� ����(; ?,��

 �!$$� w��&� ����+�2 ���� 0�ROS ] ��2 ��85[.  ��
 �-A ��� 	� ��<,5�("�!����� pdx1.3  �� �T(� 5��



 

 

 � 0+� ��
 /����UV-B ] !$�(
 #�(; ���(�85 B86[.  �-A �� !�2�� ��2�� �A�� �� ��� �&�A ��$R+


 '(�&����� �� !
� �� /�=� � !
� �� /�=� �� 	�4� �� #	��� ��
 ����(; ���]��� 	�(� �� �������B6  ��

��� '-� ���(� �*�����6 #	��� c+ � ��	� ��� ��7. ��$, �� �-A B��j� /5�("�!����� sos4  �� ��

 .� 	@��� .�$�� ��(��!�	�"PDXK ��� 0+� #	��� �� #�(; ���(� B���.  ���
 �-A i<
 	� B��; ��� ��

��
 /V �� �� PDX1 gC� �
�� �!$
� /�=� ��  �������B6  B��� �!2 I�T@� B���sos4  /�5�� ��� ��7 ��

] �������86 B88 -90 �� ���51� �� [!
�. gC� ���51� ��	� F�8� ���&� �[	3�  �������B6  ���p� �� %��" ��

J�C� �� ��� ���� /�=� ��j� B��� �8�� .�$
  �������B6 ���!� �7�T��� #	��� c+ � �� I!2 ��.  B�� ��� .�

�.��
 �� J�C� ��6 �� !��	q� !���  �������B6  �!2 �!
�=� 9�* ��� ��
 ����(; ��	� ���� c�&�z���  

/V /��� �� ��� �A�� c��8 PDX1 � PDXK ��2 �� '�4$� 0�����6 #	��� �� %��" �� 5��.  B��j� /��$, ��

B. subtilis PDX1 ] ��6 ����� B0� />�(�� �!$$� !�&�� ��X; �� �� ��� �!2 ���@91��2 �� '�4$� [. 

 B��� 	� ��<,PYRO A (  PDX1 �� �� Aspergillus nidulans ��� J	2� (��� �!2 � 5�("�!����� 

PDX1.3  !��� �� n�� �L$� w����� �:2� {	:� �� ��1	3 ��	8 .� O". �� ��� �!2 ���� /�=� ��$R+
 

SNZ1 Bhomologue of S. cerevisiae PDX1  /6 �� �� ���� ��A� ���@ !2� .�1 �� 	�n�� 	����� ��

 !$�(
 ����!�(�� #	��� �� <��� !:�(� �
 h$
	1. ��
 /V /��� �� ��� /�=� /�
��3 �� �
 ��1�� 5�("�!����� 

PDX1 /���� B/!2 �	� B�&�(*=
 P��� UV-B ] /.� �96��2 �� '�4$� [. ���-� �� SOS4  '�4$�

!��� k6 �� /���� � �	� #	��� /���� �� %��" /��$, �� ��$R+
 I��	�� (ABA) [87] ��� �!2 ���� /�=�.  

�� 	4� �� ��� ��7 �� �Tj� !�L� � ��	�(3 	@� �� !��  �������B6  ��A� ���� �� 0�����6 #	��� c+ � ��

5�$���� �� 	�3�� ��
 /V /��� ���51� �� �
���	��� � ����  �������B6 !��2 �� 	_$�.  � �-A�� c��8 ��7 ��

51� �� ���� ��A� �!
�=� ��	� �G�$j��� ����� .� �
	� B!2 	�l n�� �� �� ��C��+
 /��� #	��� �� ��� �������

B6 ���� � �� �� ���	��\� k��� � #��	
 :��� !$����  �������B6  �!
�=� 0+� #	��� �� %��" �� ���T$� ��

 J�C� �� !�!2 �A��� /���*+
 � 5&�5��3 � !��	� �������B6 �� �� �4;<� c��8 ��7 �� sos4  �=;� �� �T(�



 

 

 �-A 0+� ����(; ���51� ��A� ��] �,�� /�
��3 B��1��90!$
� �� /�=� �� [.  ��6 ��� B�
 ��1�� ��� �� �A�� ��

��1�� 	��\� !�&�� �� /��� %��" ��	� �1�D� ��
 !���" ��T�� �� ��� �*+�  �������B6 !2�� �
 ���� ��.  	� ��<,

�!$$� 0$
 ��1	| /��+� YZ=� B��� ROS ����.��� '�4$� �  �������B6 �� ��� �*+�  0��5� cG�(� c;

!$� 0+� �$� �L���� u��$� � ������� ���.  

 ��!A.1  	�(� ��
 �-A .� ���
 ���+� �������B6 !�!A  �Salvage #	��� �$��. ��.  

  

7�*�,� A���  �������B6  

 B��� �!2 ���� g�D�� ��T8 ��
 i�	3���" �� �� ��C��+
 �������B6  ����(� ��	� �!2 F�� � k�
 ���	� 0�

!$� �� c+, ��8 /�!�(�� ���6 0� /��$, �� �� �5�	� 	���1�� 0� /��$, �� �� ��� �&��� ��
!$�6	1 .�.  ��� ��

E��Z� f���� �� ��� �A�� c��8 B��; PN BPM � PL  ��2 �+� W�� F�8� �	*�+, /6 ��	� �� ��� �!2 F�=�

 ��!A)2(. ����� ���&�� ��7 �� I���=� ����	����  !$�(
 �!�!A x�T��� W�� c��� ��7 �� ��	� ��� �*+� �

�*�V�&���  �������B6 !2�� '-� ���(�.  

 n�+�;� I���=� ��� .� �!2 ��
�$2 ��	�-�4'-O-methylpyridoxine �� ginkgotoxin .� Ginkgo 

biloba  ��� �
��. ��� �!2 �1�� �
 ���� �� ��A�� �4�a ��	�=�� �� E��Z� ��
 �1�� �� ���	� ���.  �[ 	3



 

 

 �1�D� ��	3 �� ��� �!2 ���� /�=�4'-O-methyl  9	1 �� 	
 � ��2 �� c��; ������� .� ���. ��+�;� ��

 �� 	_$� 0��$����� 	�(� B!��2 �� �(���� ��(��!�	�" �!2 ����	L(1 	�a � �!2 ����	L(14'-O-

methylpyridoxine ��� �!=� c; .�$
  B   �� 	_$� !���� �� ��(��� F��5� S$=� B'(�(������(��� ��A

��2 �TU, In<�
� 	��� � �,	�.   ���U, � �"�V � ��[ �� ���`a uT$� B�]$�3 /��
�� .� ���
 ���� /��$, ��

!$
� �� /�=� �� ��2�!-� ���&�� 	C
 0� �-�6 B��2 �� ���L��� ������ In�U � �� �
 r	�.  i!
 0� /��$, ��

 ���&��4'-O-methylpyridoxine �� ��(��� �� ��� ��1	3 ��	8 ? � ���� PLP .<�(���	�� I������3 '�5�6 

(GAD) 5�$� ��	� �� ��� GABA ��� ����; �TU, �!$
� ������.  ���!� ��A� � D�� !
��2 B��; ��� ��

��&�:1 �-A�� c��8 ��7 �� /6 �*�V�&��5�1 �4�a /��. �� ��(����*$�3 �� GAD  !
� �
�� ��.  Bc���� �� ���

�� ��(��� �� !
� �� /�=� �	�
� PN / PM / PL  !$� �� ���8� /�(�� .�$�� ��(��!�	�" ��	� .� ���� �� ��

.� �� �,�+_� !���� �� ��
 PLP � ��A�� PMP ��&�:1 �L$� � !
� �
�� �� 5\� �� GAD �  5�$(�� 

GABA  !
� ��	8 	�@�� � � ��.  

Ginkgotoxin �� ��$R+
 Albizia tanganyicensis ] �����	16 �
��98-100 �� ��� /�=� �� !2 �1�� [

 c�*=� �� 	_$� 5�$���� 	�(�4'-O-methylpyridoxine ��	� Ginkgo �(�� �	1 �� 	U $�. Albizia 

tanganyicensis /6 0��5� ��(��� � Albizia julibrissin I���=� 	]�� ��$R+
  �������B6  	� �!�R�"

 ��!A)2 �T� �� (!�$. ��	� �� ���L���� ��(����]$�3 I���=� 	]�� ��	� �� � ��5�T&�  �����8 0� '����� �� ��

!��2 �� 5�$� I�T��	� ��� �	[ �� !
� �� g�D�� �� '�$� �!�" �� �*�V�&���.  �-�6 �� ��� ��� �&�+�;� ��+�;�

�-�6 ��+� ��, �� �5���+�� c���, 	��	� �� ��|�L; I�T��	� /��$, �� !��2 ��1	3 ��� ��.  ���� �� k�`A ��p(� ���

I���=� 	��	� �� ��
 '(�&����� .� �41� � ��	� /�
��3 ��� ��
 '(���*� f��  �������B6 ��� �+�.  ��	�

z!$$� �� ���L��� ��
 �+� I�T��	� �.�� �	�
l ��	� /!� ��
 9�!�� �� b�
 ��
 �Z� .� �-�6 ��6 B��j�  

 I���=� �� ���
 �T$A .� 	]�� �*� �������B6  ��1	=�" In�U � c�*=� B��� ����6 /�\��� �� /6 k�[��[ ��

) h$��>�(��q�& � �(*��3AGE  �ALE��� (.  �	�3 c*2AGE  �ALE  �� !
� �� }� ����. �-&��� ��



 

 

2�� /���	1 f�T2� 	�a k	[ ��
!��� �� (.����	1 B5���3 !$���) ��
!$8 �
��!.  �� !$���� �� �-�6 �C��	2 ��$[ ��

] !$
� /�=� �$��� ��5�& ��
 ��p��	" �!��� �8�� ��
 �$��� �� ���	�103 B104[.  �2�T��AGE  �ALE 

] ��� ����. '� �� ��:1 ��
	�(� ��� �1�D� �� ����!�(�� #	��� .� �2�� ��$R+
103[.  ���-� In�U � ��$[

��. ��p��	" �	*�+, ��	� ��a���2 !�!2 ���6 �� 	_$� ��� �*+� '&�� ��
 �1�� �� �>�� �� � ��� ��6 /.  .�

 �2�T�� c�&� �� B!�� ���� ���51� �� /�
 !�q�& � /�
 !$8 ���� � �� .�	�*���	�6 �� ����� �� <�T� /���+�� B�� ���

AGE  � �
ALE !�	� �� S�� �
.  �� ��	8 ���L��� ���� ����(��!�	�" B�_$�� �� ���	� 0� /��$, �� �	�3

 ��!A ��) k	[ ��
 !��� �� !���" P��� H1� �2 c�*=� ��	� ��p��	" �� 	@�� ��7 �� � (ALE ] ���8�104 B

105[.  c�*=� ��	� ��|�L; ���	� 0� /��$, �� �� �	�3 �� ��	8 ? � ���� ��$R+
 �������AGE  �>�� �� ��

!$� �� ��!
 ����� �� <�T� /���+�� ��	�] �	�3 ��	8 ���L��� ���� B106-108[.  

 .� �-A�� c��8 ��!�� �������B6  .�)5  ��80  ���� � c� .� !��� �������B6 � �
 ���� .� ����(� �� (

] ��� �!2 ���.�*��3 I�_�5T�109 B110[.  !�� �� 	4� �� �������B6  � ��� /���	1 /�
��3 �� �!2 c�.�*��3

] �*$�3 � S�	� B���� ��111-113��� �!2 �����$2 [.  I�T��	� B�
 m��8 �� B��� 	� ��<,β- ��� � c�.����	1

] ��(��!�	�" c�.���n�3114 B115��� �!2 �1�� [.  I���=� ��� �� ���� ��+�;� �������B6  0� ��
 ���"

!$�(�� ��	��� c��8 �*�&����� ���L��� ��	� ���	��$� � !$�(�� .�$�� ��(��!�	�".  B�_��� ��β - ��
 .�!�.����3

 c��8 ���T-� 	�(� ��
 '�5�6 ��	� ������ ������� � ���� !$8 �Z� ��2��	� �� ���8 �
 /�(�� � /�
��3 �� ���


] ��� ��	���111 B116-118[.  �n�� ��!�� ��	� F�8� � �D�� ~�
 �[	3� �������B6  �� �!2 c�.�*��3

+�;� ��� B��� �!=� �G��� I�������2 �� �!�� '&�� �]�2�T�� �$��. �� /6 ��.  B�_$�� �� �������B6  �� ��� �*+�

!2�� ��5�& ��
 ��p��	" ��-���8�� �� !$8 �$��� .� �	�3��A ��	� ��41� � ���	� 0� /��$,.  B���	� ��+
 ��

 .� �!2 c�.�*��3 ��
 9	1 �������B6  ������� �.�� �	�
l I�T��	� /��$, �� ��� �*+� �
 I��!�
��	� ��; �

��2 S�(� �D��� I��� �� !���� �� �� !2��.  I���=� .� �,�$�� E�7 ��$[ ��A� f�+_� �� �������B6  /�=�



 

 

 ���L��� �-�6 ��	� �� � �	�3 �� ��	8 ���L��� ���� 	]�� �!2 ��
�$2 ��
!$�6	1 .� ����(� �� ������� �� !
� ��

��2 ��.  

 ��!A2. ��� .� ���
 ���+� ��
 ���� �������B6 �-�6 I���=� �  

  



 

 

  

��  4.$�  �������B6 
B 0( >�� �6�% ��( ��� :&�1�( C�23 � C3( DC1�� �E�� ��  

��+
�  �������B6  � �	�]=�" .� �:��� E�7 �� x�T��� �� ��:1 ��7 �� ���][ �� ��� ��� �� /�(�� ��<� ��

��2 �� ���	� ���+�� �	�$�.  '�V� ��
 ������!2 ����� ���`a (RDS) �*�	�6 �2�!-� ��� �(��� .� 

(NIH)  ��	� �������B6 2  ��n�� c+ � �� .�� �� 9	3 ����100 ��� /n�(3�5� ��	� .�� �� 9	3 ����. 

 	_$� �U, /����	�V� � �C� � �(; ���"���� �� !$���� �� n�� ��
.��.  ��� B��2 �� E8��� c+*� ��8�

=3	� ���+, I<*=�!$�(
 	�`" �. ������� gC� ���51� �� !�� ���� /�=� I�:&�C� �
	� ��<:� B6  .� �X:� �

!$� !�&�� �L$� w����� �:2� ���� ��, �� !���� �� I���=�.   



 

 

!��2 �� ��T�� ��:1 ��7 �� �� ���� ��A� �L��Z� ��
 �$��. � !$�(
 ������� ��T+� .� �2�� I<*=� 	j��. 

�$�&�� ��
 ����.6 .� �� ��	�(3 I�	�@�� �!
�=� ��	� �!:��  �������B6  !$��� /�(�� ��2�!-� I<*=� 	�

��� �!2 9�_�� �TU, ��
 ���+�� ��T-� � /�7	� ��T-� � �	�]=�". ���51� ����5� B���	� � � ��$R+
 

 �������B6  /��$, �� /6 ��� F�	7 .������1�� I<*=� �� 	_$� �� ���n�� ��
!$��	1 ��  ���" B�T�8 ���+��

��2 �� ����� � /��Z���. ��� ��1	3 ��	8 �A�� ���� 	�. �Z� �� I�,�D�� ��� .� ���!:�.  

��
 c+*� ��� 	� I�:&�C�  �������B6  �� �-A�� c��8 ����5� ��+A .� �L��Z� S���� /�7	� .� �	�]=�" ��

 	_$� ������&�� /�7	� 	��	� �� �41� � ��, �� �$�� /�7	���� �!2.  /�!� ��
 ^�� ��� 	� 	�
� I�:&�C�

��
 c+*� .� ���L��� �� �� PN ���51� �� '�$�T� �� !2 9�_��  �������B6 .� �2�� ����" ��
����� c���� �� 

UV-B ��� �!2 �41� �.!���� !��:� /��� � ���  �������B6 	�`" �$��� />�(�� /�5�� �
�� �� (ROS) 

:��� �� �� !$� �� 0+���� ��	+
 /�7	� �. ��	� �n�� J�C� �� �&�; �� �� ��� �A�� �&�A PLP  .�� ��

.� �	�n�� PN ��!�� B��� PT�	� ���`a '�V� PLP  .�� �� �C��� �� ���" �� ����!�(�� #	��� ��
	]��=� �

�(�� I��L��. .� �	�n�� ��
.�� �� �A�� �� �
 ^�� �� ����� w��&� ���51� B��� 	� ��<, PN ��� �� �]�(T+
 B

 !2 �!�� ��T8. ��
 ��T�3 ���7	� J�C� �� ����!�(�� #	��� J�C� ���51� �� /�
 5�	8 ��
 ��T�3 /�5��

 ���6 �� ������� ���&�� ����5� �!$
� ���51� ��$R+
 B�&��� 	�a ��
 ���� /�7	� �� <�T� /���+�� �� 5�	8

��� �
 /�!�(��.  

   �������B6  /��$, ����� .��� ���� �!$
� ������ ���� 5�$� ��	� 	��1��.  /�=� /�!$+&�� �� I�:&�C� B��; ��� ��

 �� ��� �*+� In�1 /�5�� ���51� � ��� ��
�$2 ��T-� �� �	�=�� ����5� ����� ��1� ��� ����	� �� ��� ����

���	�� ��
 ���+�� ��A B6  !2�� 	+��5&6 ���+�� �� �!$$� 0+�.� �&�; ����� x�T��� � LDP  'G<, � '�

 �� c+*� B��� �!2 ^��53 �3�	(1� �$�&�� �������B6  �(� /��	� �� �3�	(1� ��T-� ?,�� �� ��� �!=� ���@

 ��2 	�. ���+�<" gC� B���
 �<�
� �� ��	1�5�*�� �� <�T� /���+�� �� PLP  � ��� 	� ����" �-A�� c��8 ��7 ��

��
 c+*� �� /���� ������ �B6  ��5����6 B0��	1�5�*�� �� PT�	� �	]�� ���+�� �� ��	+
 �� ���+�� ��� 'G<,



 

 

]132-134��� �
�� [.  �������B6  /����� ����1� In<�
� ��T-� ��	� '-� ���&�� �5��� 0� /��$, �� ��$R+


=� .�$
 ������� F�8� 	�@�� �[ 	3� B��� ��1	3 ��	8 �:&�C� ���� '(���� �� <�T���� �!2 ���� /�. [135-136].  

 �������B6  	�$���" /�5�� �� ��p�(���+
 ����" J�C� � ���� �&�
� �:�T7 ��p�(���+
 gC� HL; ��

 ���� x�T��� �5\� ��*� � �8�	, �T�8 ���+��. �
�� ��	� c+*� ��
 c+*� �*$�� ���� �� I�:&�C� ��; ��� ��

�
 ���+�� ��� 	��	� �� ��p�(���+
 gC� !$�(
 ��X�� B!$$� �� �41� �.   .  �� 5�� n�� ��p�(���+
 J�C�

���� x�T��� /��Z��� �]�(*2 �]�(*2 � .�	"�p���. ��!�� �
�� �� ��� /�=� �
�]=���.6 �1�� I�=���.6 

 �������B6  /��Z��� k`A �� 	_$� �� ��2 �� ��<��p��� ��&�:1 0�	 � ?,�� ��p�(���+
 gC� ���51� ��

2 ����.  

 /�
 gC� �������B6 !��� �� �
�� �-A�� c��8 ��7 �� ������ ��	1� ��.  �� ��C��+
 �������B6  	���1�� 0�

 u��� �� ��2 �� �����$�� ��
 ��&����� gC� ���51� �� 	_$� 	�(� ��� �� �<�
� B��� /�1��q�	� '(�&������ ��

] ��2 �� 5���3 	�+� c+ � � ��&�(�� g2	�141[.  E��Z� ��
 ������� ��� 	� I�:&�C�B6  �� !
� �� /�=�

] !$$� 0+� 5���3 c+ � �� x��	� I<*=� �� !$���� �� �
 c+*�142[.  �� PT�	� ��
 ���+�� 	]�� {���,

 ������� .� �	�n�� ��
.�� � ��� S��� ��$R+
 �����B6 ���+�� �� �!��	=�" 0� B���, ������!�� �<�
� B

� �� B��	, f�� ����� �� <�T� /����1 ]143[.  

0(
�( 8,% � 0(
�( 8,%  

5�$���� E��Z� ��
 �T$A ��2`3 ��
 ��� �� �[ 	3�  �������B6  '(�&����� ��	� ������� ����5� � 	�@�� �

!$��� �� �8�� k��A /�!� In��� .� ����(� B��� �!2 ���� g�D�� ���+,.  	�. �Z� �� ����� ��� .� �Z� S$"

!
� �G��� �� '-� F�� � �$��. ��� �� x��	� �!$�6 ��
 ��	1 .�!�� '=[ �� ��2 �� ���� �2�".  

�*�V�&��� �	�$� �� ���� ��A� �����8 ��
 95���*� ��6 PLP !�!A 5�$���� 	�(� �� �[ 	3� z!$� �	�$� �� - 

DXP  c��(� � ��(���-  �(����� J�C� �� ����4� ��
 95���*� B!�� �!2 c;�  ��2���� �("  �	�$� ��	�

5�$���� PLP !��� �� �8�� .�$
. ��-�V �(����� I�+�4$� �[ 	3� PDX1  .� O" E��Z� ��
 '(���3�� ��	�



 

 

J�C� 	� ��
 ���� �� ��� ��6 �� ��� .�� .�$
 ��� B��� �!2 E���� #	��� /����  �������B6  ���`3 �� 	�@��

)13 B144(.D � �5�	� ��� �� �A�� �����	 PLP  ����4� ��
 ~�G�� ��$[ �� ��� �� ��4��� B'(�&����� ��

!2�� ��2�� ��A�. �	�. B!��2 cU�� ���+, '(�&����� �� !��� �-$��  �������B6  � !$� �� �L�� �5�	� ��� ��$[

��]��� �� ��� c�&� ��� �� 9�� � ����6�� 0� /��$, ��    5�$���� $� ��	� 9.n ��
.�� ��" ��	�5� PLP  ��

!$� �� ���8� 	]�� ��
	�(�.  

��
 ��&�:1 � I�_� ��
 ��� ���][ PLP ��
	�(� �� �� ��C��+
 z��2 �� '�4$� ���][ .���L(1 !�!A g�D�� B

� ����	�(� ��
 '�5�6 ���][ �� ��� �!=� ���� PLP ��2 �� '�4$� .���L(1.  �� ��� ��6 �_:� ���

� .�$�� ��(��!�	�" PNP / PMP '(�.�	�
 �	�$� �� �+-� ��� .�!�(��  �������B6  /��� #	��� �� �

�����1�� �� ���	� �� ��� �*+� ��; �� !���� ��:1 PLP !
� }� .���L(1.  /�=� ��-:&�C� !$[ �-$� B��; ��� ��

 B/�� !$��� c���, ���� �� �$�� !
� ��ATP�&�:1 ���`3 �� 	�@�� '���(� �� /���" In�U � �� � B ��� ��
 �

] '�5�661 B145 -149	�(� � E��Z� ��
 ��p��	" ��� c����� �� �&�; �� B[ !�!A  ��� �!=�.  /��� �� '
 .��

� I�_� 	�(� ��
 ��p��	" �� ���� ��A� ��:1 �	�$� .� �	�n�� gC� 0� �� �L3 PLP  #��� 	� �� .���L(1

!$� �� '�4$� �D���.  

������� ������ '(���*� B6 z�(�[ ���][ ��� .�� /6 .� �!�. I���A�� .� ����(� ��	�  �������B6      c
�� ��

E��Z� ��
 �1�� � �
 /�3��   .!$� �� ��	;  �=a F�	7 .� '���(�	�a ��7 �� �!2 !���L(1 	�a ��-�	1 �[ 	3�

��� u�	� k`A �� ��n�7 c���1 Y�UZ� ��	� �1�� �.�!�� �� /!2 �Z" ��� ��� B!$$� �� ��T, .��� ���� ����

�(��.  ��	� ���+� !$[ P�1 	D�; ��; ���!$
� ������  �������B6  � B��� �!2 �G��� �
 I������	" � 	+Z� ��

��� /�
��3 � I�����; !$��� 	]�� ��
 /�3�� �� '-� ��p(� ���.  

������� '(�&����� ���][ B6 3�� .� ����(� ��	� z���`3 �� 	�@�� #	��� c+ � 	� �Tj� �!2 ���� /�=� �
 '(���

 k6 '� �$� P��	2 �� �T(� B!�� �!�� ���6 ���� 	�(� �� I�_� ��
 �RD�; �� �� ���
 /������� �� ���

!$�(
 #�(;. ���� � �� �=�+
 !; .� ��� ����(; ��� B��; ��� ��  �������B6  ���!� x�T��� ���� ��.� ��� .



 

 

��	q� ��� 9.n � YZ=��� 	D�; ��; �� ����!�� ��6 �� '  �������B6  	��	� �� �41� � ��	� �+-� c��,

��	�(�� �*$�� �[ B��� 0�����6�p���  �������B6  ��
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